
WJEC 2015 Online Exam Review

GCSE Design and Technology: Food Technology 4091-01

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1746 5.1 2.6 15 33.7 99.9
2 1742 2.8 1.6 10 27.8 99.7
3 1740 4.8 1.9 10 47.5 99.6
4 1744 12.5 4.3 25 50 99.8
5 1745 4.8 2 10 48 99.9
6 1744 4.3 2.2 15 28.5 99.8
7 1744 7.3 3.2 20 36.6 99.8
8 1734 8.1 2.2 15 54.2 99.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCSE DESIGN & TECHNOLOGY - FOOD TECHNOLOGY 
 


SUMMER 2015 MARK SCHEME 
 
 


SECTION A 
 


 


Question   
On 


paper 
Question 


Totals 
Running 


Total 


1 (a)  No answer or the answer does not give an explanation for the wrap 
being used. 


0    


   Correct one mark responses for this question could include: 


 To hold all the filling ingredients in/keep it all together.  


 To improve the overall texture of the product.  


 To provide additional colour for the product. 


1 
 
 
 


1   


        


 (b)  No answer or the answer does not relate to why the vegetarian wrap 
has been cut in half and presented this way in the packaging.  


0 2   


   Correct one mark responses for this question could include:  


 So the consumer can see inside the product.  


 So the consumer can see what they are buying. 


 So the consumer can see if they like the look of the product.  


 So the consumer can see if they like the foods it contains. 


 The product looks nicely presented this way/aesthetically pleasing. 


1 
 
 
 
 
 
 


   


   Developed response: 


 The product looks more attractive/appetising presented this way, 
this could increase sales/encourage more people to buy it.  


 So the consumer can see inside the product and make a decision if 
they would like to buy it/if they like the foods it contains.  


 


2    


 (c)  No answer or the answer does not refer to why the soy sauce, pickled 
ginger and wasabi are packaged separately  


0 
 


2   


   Correct one mark responses for this question could include:  


 So the consumer has a choice if they want to use them. 


 They are quite different/quirky sold this way. 


 Adds to the overall appearance of the product.  


 These extras may not be liked by everyone. 
 


1 
 
 
 
 


   


   Developed response:  


 Having these extras included in the wrap could make the 
appearance/overall quality poor this could affect the sales of the 
product. 


 The extra products may not be liked by everyone, this could stop a 
consumer from buying the product as they think it’s a waste of 
money.  


 


2    
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Question   
On 


paper 
Question 


Totals 
Running 


Total 


 (d)  No answer or the answer does not relate to an  
ingredient in the product that could be considered  
unsafe. 


0 1   


   Correct ingredient identified.  
Sushi rice/accept just rice. 


1    


   No answer or an answer that does not explain how the safety point 
identified could be harmful to the consumer. 
 
A simple answer related to the safety point specified can be awarded 
one mark: 


 Rice is a high risk food  


 Rice can give a consumer food poisoning  
 
An elaborated response can be awarded two marks: 


 Rice is a high risk food if not stored at correct temperature it could 
result in harmful bacterial growth. 


 If not stored at correct temperature it could be unsafe to eat and 
give the consumer food poisoning.   


0 
 
 
 


1 
 
 
 


2 


2   


        


 (e)  No answer or the answer does not relate to the including of seaweed. 0 2   


   Credit each correct reason: 


 To give a layered effect to the wrap.  


 To provide colour/dark green colour.  


 To keep the rice and vegetables separate. 


 To increase the nutritional value of the product (vitamin B12). 


 To improve the overall appearance of the product. 


 Traditional ingredients. 


 Provide moistness. 


1 
+ 
1 


2   


        


 (f)  No answer or the answer does not relate to the function of the sushi 
style vegetarian wrap.  


0 2   


   Correct one mark responses for this question could include:  


 To be sold as a snack type product. 


 To be sold as a quick lunch product. 


 To be sold as part of a buffet.  


 To be sold as a meal on the go/out of pack. 


 To provide a nutritious snack.  


 Ready to eat. 
 
Developed response:  


 To be sold as a meal on the go for an office worker who does not 
have time to sit down and eat lunch.  


 To provide a healthy/nutritious meal/snack, it contains 
carbohydrates/proteins/vitamins. 


 To serve as part of a buffet style meal where other dishes are also 
available for a variety of tastes. 


1 
 
 
 


1 
 
 
 
 


2 


2   
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Question   
On 


paper 
Question 


Totals 
Running 


Total 


 (g) (i) No answer or the answer does not refer to the total score awarded for 
the sushi style vegetarian wrap.  
 


0 
 


1   


   Correct response 
23  


1 
 


1   


        


  (ii) No answer or the answer does not relate to the % of scores awarded 
for the characteristics texture and flavour  


0 2   


   Correct 60% shown  
No workings shown  
 


1    


  (iii) Correct % and workings shown  
 


2    


    
3 +2 = 5  4+3 =7   12/20 x100 = 60% 
Or alternative suitable calculation. 
 


 
2 


   


   Total marks for Question 1   15 15 


  





		Blank Page

		Blank Page






Sticky Note

Correct response.







Sticky Note

The candidate has put forward a basic response identifying a reason for presenting the wrap this way, the question states explain therefore a more detailed response is required.  To achieve full marks the candidate could include information about decision making and buying the product because it contains foods the consumer 
likes. 



Sticky Note

Correct developed response. 



Sticky Note

A more developed response is required for full marks to be awarded.  The candidate could extend their answer by including reference to bacterial growth and correct storage temperature. 



Sticky Note

To add flavour is not a correct response.  To gain the mark the candidate needed to include an answer related to increasing nutritional value, keeping the layers of different foods separate or discuss how it improves the overall appearance of the wrap.



Sticky Note

The candidate has put forward a basic response. To gain full marks a more developed response is required.  The candidate could include the wrap could be a suitable lunchtime meal for a worker who does not have time to sit  and eat lunch so it could be eaten on the go.







Sticky Note

Correct calculation.



Sticky Note

Workings and correct percentage provided. 












Sticky Note

Correct response. 







Sticky Note

A more developed response is required for full marks to be awarded.  The candidate could extend their answer by discussing seeing the filling encourages more consumers to buy the product which would increase sales. 



Sticky Note

A more developed response is required for full marks to be awarded.  The candidate could extend their answer by adding if the consumer does not like all of the extra ingredients they have a choice if they want to use them. 



Sticky Note

To gain marks the candidate needed to name the rice as an unsafe ingredient.
They needed to discuss  that rice is a high risk food and explain it could cause food poisoning if not stored at a safe/suitable temperature. 





Sticky Note

The reasons for including seaweed have not been correctly identified.  Correct responses could include to provide a dark green colour, to give a layered effect, to keep the rice and vegetables separate, it is a traditional ingredient associated with the product. 




Sticky Note

Correct response provided.







Sticky Note

Correct calculation.



Sticky Note

Workings and correct percentage provided. 












Sticky Note

To gain a mark the candidate needed to identify that the wrap was used to hold all the filling ingredients in or provide an outer casing to keep the wrap together.







Sticky Note

A more developed response is required for two marks to be awarded.  The candidate could extend their answer by adding; seeing the content of the wrap encourages more consumers to buy the product which would increase sales. 




Sticky Note

The question states explain therefore a more detailed response is required. The candidate could extend their answer by adding if the consumer does not like all of the extra ingredients they have a choice if they want to use them. 




Sticky Note

To gain marks the candidate needed to name the rice as an unsafe ingredient.
They needed to discuss  that rice is a high risk food and explain it could cause food poisoning if not stored at a safe/suitable temperature. 






Sticky Note

To achieve a second mark the candidate needed to add to provide a dark green colour, or  to increase the nutritional value of the product. 



Sticky Note

To gain marks for this question the candidate needed to identify what the function or purpose of the wrap was.  A correct response would be; to be sold as a snack/meal on the go for a teenager who does not have time to sit down and eat lunch.  







Sticky Note

Correct calculation.



Sticky Note

Workings and correct percentage provided. 
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(4091-01)


Examiner
only


Section A


Marked out of 60        60 minutes


1.	 This question is about Product Analysis. It is worth a total of 15 marks.


	 The photographs show a sushi style vegetarian wrap. 


© WJEC CBAC Ltd.


	 Product information:


	 •	 Single portion size;
	 •	 Cost £3.00;
	 •	 Weight 210g;
	 •	 Ready to eat;
	 •	 Must be kept refrigerated.


	 (a)	 A vegetable based wrap has been used to form the outer layer of the product. 
		  State why the wrap has been used. 	 [1]


	


Product description:
Ready to eat vegetarian wrap.
With soy sauce, pickled ginger and wasabi 
sachet.


Main ingredients:
Sushi rice, mixed vegetable strips, 
seaweed, egg and vegetable based wrap.







(4091-01) Turn over.


4
0


9
1


0
1


0
0


0
3


3
Examiner


only
	 (b)	 The sushi style vegetarian wrap has been cut in half before being packaged.
		  Explain why the manufacturer has presented the wrap in this way.	 [2]


	


	


	 (c)	 Explain why the soy sauce, pickled ginger and wasabi sachet are packaged separately by 
the manufacturer.	 [2]


	


	


	 (d)	 Name one ingredient used in the product that could be considered unsafe to a consumer 
if not stored correctly. Explain why this ingredient could be harmful to the consumer.


		  Ingredient:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


		  Explanation:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [2]


	 (e)	 The sushi style vegetarian wrap includes seaweed. Give two different reasons why the 
seaweed has been included.	 [2]


		  Reason 1: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  Reason 2: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (f)	 Before starting to design the sushi style vegetarian wrap a design specification was 
written. Write a detailed specification point for the following heading. 


		  The function of the sushi style vegetarian wrap.	 [2]
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(4091-01)


Examiner
only


	 (i)	 Calculate the total score awarded for the sushi style vegetarian wrap.	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (ii)	 The maximum score available for texture and flavour is 20. 
		  Calculate as a percentage (%) for texture and flavour the actual total that the product 


has achieved.	 [2]


		  (Show all your workings.)


	


	


© WJEC CBAC Ltd.


	 (g)	 The star profile below shows the taste test results for the sushi style vegetarian wrap.


		  Note: the lowest is 1, the highest is 5.


Moist texture


Colourful 
appearance


Neatly 
presented


Suitable portion 
size


Ease of eating


Crunchy vegetable 
texture


Spicy flavour


Strong vegetable 
flavour
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Question   
On 


paper 
Question 


Totals 
Running 


total 


2 (a) (i) No answer or incorrect responses 0 2   


   Logo A – soil association (organic standard)  
Logo B – recycling (multifamily) 


 
 


1 
1 
 


  


 (b) (i) No answer or the answer does not refer to the six R’s. 0 2   


   Award each correct R identified:  


 Rethink  


 Repair  


  
1 
1 
 


  


  ii No answer or the answer does not relate to how refuse can be applied 
when shopping in a supermarket.  


0 3   


   Correct responses to this question could related to: 


 Packaging of foods, processing of foods, importing of foods/food 
miles, chemicals used in production, environmental concerns 
(recycling/reusable) special offers, health/diet implications. 


 
Award basic response:  


 Refuse to buy special offers- buy one get one free 
 
Award response with some detail: 


 Refuse to buy special offers- buy one get one free that the 
consumer is aware could be wasted due to family size/personal 
taste. 


 
Award a very detailed response: 


 Refuse to buy special offers- buy one get one free 
 that the consumer is aware could be wasted due to family 
 size/personal taste/ lifestyle which would result in goods being 
 thrown away and possibly ending up in landfill site. 
 


 
 
 
 
 


1 
 
 


2 
 
 
 
 


3 
 
 
 


   


 (c)  No answer or answer does not relate to lifecycle of a food product.    0 3   


   Award basic response: 


 When a new product goes through different stages. 
 
Award response with some detail: 


 When a new product progresses through a variety of stages 
starting from conception of idea.  


 
Award a very detailed response: 


 When a new product progresses through a variety of stages 
starting from conception of idea to its decline where it might be 
discontinued or disposed of. 


 


1 
 
 


2 
 
 
 


3 


   


   Total marks for Question 2   10 25 


  








Sticky Note

The correct response for the logo is soil association (Organic standard).



Sticky Note



Sticky Note

The candidate has put forward a basic response.  The question states explain therefore a detailed response is required.  The candidate could extend their answer by providing more nutritional information such as high in fat/salt/sugar and then discussing the health implications of eating a product that was high in the highlighted food/ingredient.  



Sticky Note

The candidate has attempted to answer  but has not understood the meaning of lifecyle.  To gain marks a basic response could be; when a new product goes through different stages.  This could be extended into a developed response by including conception of the idea to its decline which could result in disposal or discontinuation. 













Sticky Note

The correct response for the logo is soil association (Organic standard).



Sticky Note

Repair was correctly identified, Rethink was the second answer required.  



Sticky Note



Sticky Note

In this response the candidate has recognised that a food product goes through different stages. For a developed response the candidate needs to include the lifecycle of a food product is from conception of idea to its decline which could result in disposal.












Sticky Note

The recycle logo was correctly identified.  To gain full marks the correct response required was soil association.  



Sticky Note



Sticky Note

This question requires a detailed developed response.  Example points that could have been discussed include packaging of foods, processing of foods, special offers.  An example of a basic response could be to refuse to buy food products that have gone through many stages of processing. This could then be developed to discuss the high use of energy used in the processing stages and the
impact this can have on the environment. 



Sticky Note

This answer is too vague to be awarded any marks. The candidate needed to focus on a new product rather than a food such as an apple.  A basic response could be; when a new product goes through different stages.  This could be extended into a developed response by including conception of the idea to its decline which could result in disposal or discontinuation. 
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Examiner


only


	 (b)	 (i)	 Designers of sustainable products consider the six Rs. Name the two missing Rs 
in the list below.	 2 × [1]


REUSE


RECYCLE


REFUSE


REDUCE


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (ii)	 Explain how a consumer could apply the R ‘refuse’ when shopping in a supermarket.
	 [3]


	


	


	


	


	 (c)	 Explain what is meant by the term ‘lifecycle’ in relation to a food product.	 [3]


	


	


	


	


© WJEC CBAC Ltd.


2.	 This question is about the general issues of Design and Technology. It is worth a total of  
10 marks.


	 (a)	 Complete the table by correctly naming each logo shown below.	 2 × [1]


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Question   
On 


paper 
Question 


Total 
Running 


Total 


6 (a)  No answer or answer does not relate to the improving of the taste of the 
biscuit.  


0 2   


  (i) Plain taste – add a flavouring example needed. 
Spices, vanilla essence, zest of a fruit, nuts, dried fruit. 
 


1 
 


   


  (ii) No answer or the answer does not relate to the browning of the product.  0    
   Appearance/browning of product – glaze with milk, glaze with egg / egg 


and milk, cook product for longer. 
1 
 


   


        


 (b) (i) No answer or the answer does not relate to the ingredients added to enrich 
a yeast mixture. 
   


0 
 


1   


   Award correct  ingredient:   


 Butter  


 Milk  


 Eggs  
 


 
1 
 


   


  (ii) No answer or the answer does not relate to the ingredient added to enrich 
a yeast mixture.   


0 
 


2   


   Award a simple response: 


 Eggs enrich nutritional value. 


 Eggs enrich colour of dough- yellow. 


 Butter enriches to give colour to the dough. 


 Butter enriches taste of product- buttery. 


 Milk enriches creamy taste of dough.  


 Milk enriches nutritional value/colour of the dough. 
 


Award developed response:  


 Eggs enrich nutritional value by increasing the protein/iron content of 
the dough. Protein can give the dough more thickness.  


 Eggs enrich the colour of the dough and can give the dough a smooth, 
glossy appearance.  


 Butter enriches the taste of the dough and can give a moister texture/ 
slightly crumblier texture. 


 Milk increases nutritional value by increasing the calcium content.   


 Milk enriches the colour of the dough – more yellow/creamier which 
helps with the browning of the Chelsea buns. 


1 
 
 
 
 
 
 
 


2 
 


 


   


        


 (c)  No answer or the answer does not relate to the component parts of a 
Bakewell tart. 


0 3   


   Award each correct component part identified  


 Pastry case/base. 


 Jam filling.  


 Sponge/frangipane top. 


 
1 
1 
1 
 


   


 (d) (i) No answer or answer does not relate to nutrient found in eggs. 0 
 


1   


   Award correct response.  
Protein.  


1    


  (ii) No answer or incorrect response.  0 3   


   Award basic response:  


 Protein sets/becomes firm 


 Protein (moist or dry heat) coagulate- become firm, shrink, can change 
colour, lose moisture, become tough and more difficult to digest 


 Protein denatures – structure changes 
 


 
1 


2/3 
3 
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Question   
On 


paper 
Question 


Total 
Running 


Total 


 (e)  No answer or answer does not relate to the use of antioxidants in the 
manufacturing of a food product. 


0 3   


   Award basic response:  


 Prevents some foods going brown. 


 Help prevent a product going rancid. 
 
Award developed response: 


 Helps to prevent some foods from going brown e.g. apples/pears when 
exposed to air. 


 Helps to prevent some foods from going brown which affects colour of 
final outcome/quality of product. 


 
Award full detailed response: 


 Used to help prevent a product containing fats become rancid – give 
unpleasant smell and taste (fat soluble vitamins A and D from 
combining with oxygen). 


 


1 
 
 
 


2 
 
 
 
 
 


3 
 


   


   Total marks for Question 6   15 85 


  








Sticky Note

The candidate needed to name the fruit to be awarded the mark.



Sticky Note

Chocolate is not a suitable ingredient.  The candidate could have suggested; butter, milk or eggs. 
If the candidate included butter as the ingredient the correct response for the explanation would be to add colour to the dough and to enrich the taste by making it more buttery. 







Sticky Note

To gain full marks the candidate needed to identify the bottom layer as a jam filling. 



Sticky Note

Pectin is not a nutrient.  The correct response is protein.  



Sticky Note

The candidate has demonstrated some knowledge in their answer but has not correctly identified the nutrient.  To gain full marks protein must be included in the answer and all the stages identified including the protein denatures. 



Sticky Note

The candidate has recognised the antioxidants can prevent browning.  To achieve full marks a more developed response is required, which would include exposure to air, the affect this can have on the colour of some foods and the quality of the final outcome in relation to suitability for selling. 












Sticky Note

Sugar is not a suitable flavouring.  The candidate needed to name the flavouring to gain the mark. 



Sticky Note

Salt is not a suitable response.  The candidate needed to identify butter, milk or eggs. If the candidate included milk as the ingredient the correct response for the explanation would be to add a creamy taste to the dough and to enrich the nutritional value by adding calcium/fat. 

 







Sticky Note

To gain full marks the correct component would be a sponge or frangipane  layer. 



Sticky Note



Sticky Note

The candidate has demonstrated a good level of knowledge in their response. To gain full marks the candidate needed to include in their response the protein denatures, the structure changes. 



Sticky Note

The candidate has discussed that antioxidants can help prevent a product going rancid (this is on the back of the paper) To gain full marks the candidate needed to make reference to the vitamins A and D combining with oxygen. 












Sticky Note



Sticky Note

The candidate has correctly identified butter to enrich the mixture and has gained a mark for stating butter provides a luxurious taste.  The candidate could have included butter helps give a yellow colour to the dough to gain full marks. 







Sticky Note



Sticky Note



Sticky Note

The candidate has been awarded for correctly stating the protein coagulates and breaks down.  To gain full marks they need to include protein sets/becomes firm, loses moisture, changes colour and denatures.



Sticky Note

The candidate has attempted to answer the question but there is not sufficient correct information to award any marks.  To gain marks the candidate could discuss the use of antioxidants to prevent foods from 
turning brown when exposed to air.
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6.	 This question is about Materials and Components. It is worth a total of 15 marks.


	 (a)	 Complete the table by suggesting an improvement for each product to improve the 
sensory characteristic identified.	 2 × [1]


Product Sensory characteristic Improvement


(i)


Plain taste . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)


Appearance/browning 
of pastry product


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (b)	 The picture below shows some Chelsea buns made using an enriched yeast mixture. 


		  Name one ingredient that is used to enrich the yeast mixture when making the Chelsea 
buns and explain how the ingredient enriches the mixture.


		  Ingredient:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


		  Explanation:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [2]
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		  Name the three different component parts of the Bakewell tart.	 [3]


		  Part 1:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  Part 2:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  Part 3:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (d)	 Eggs are one of the main ingredients used to make many different food products. 
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	 (c)	 The picture below shows a Bakewell tart.


	 (i)	 Name the main nutrient found in eggs.	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (ii)	 Explain in detail what happens to the nutrient when heat is applied during the 
cooking process.	 [3]


	


	


	


	 (e)	 Give one detailed reason why a manufacturer may use antioxidants in the manufacturing 
of a food product.	 [3]


	


	


	


	







